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NEW QUESTION 1
You have a set up min-max planning at the subinventory level with the following to source item AS12312 for Organization: M1.:

o Source Type: Organization

o Organization: M1
What type of supply request will be generated?

A. Movement request

B. Internal Requisition

C. Purchase Requisition

D. None,; this is an invalid setup
E. Intraorganization transfer order

Answer: E

NEW QUESTION 2

Your organization is planning for a periodic counting of individual items automatically throughout the course of the year. As part of this activity, the user has loaded
items to the cycle count but some of the items are not being considered when count schedules and count sequences are not generated.

Identify two reasons that explain why the items are not being considered.

A. The ABC assignment group is not defined.

B. The Include in Schedule option is not selected to include the item for auto-scheduling.
C. The Cycle Count Enabled flag is not selected for the inventory organization.

D. The Cycle Count Enabled flag is not selected for the item.

E. The approval controls are not set up.

Answer: DE

NEW QUESTION 3
Which two statements are true in regard to using the Enterprise Structures Configuration? (Choose two.)

A. It recommends job and position structures.

B. It allows you to create your Enterprise, Business Units, and Warehouses in a single step.
C. You cannot modify the recommendation from the too

D. You must do it after you perform the initial configuration.

E. The guided interview-based process helps you set up the enterprise with best practices.
F. It creates the chart of accounts.

Answer: BD

NEW QUESTION 4
Given an HttpServletRequest request and an EJB SessionContext ctx. Which is a valid way to retrieve the Principal invoking either behavior?

A. request.getCallerPrincipal() and ctx.getCallerPrincipal()
B. request.getUserPrincipal() and ctx.getUserPrincipal()
C. request.getCallerPrincipal() and ctx.getUserPrincipal()
D. request.getUserPrincipal() and ctx.getCallerPrincipal()

Answer: A

NEW QUESTION 5
Which code snippet indicates that the page you are designing is capable of handling errors?

A. <%@page errorPage="errorHandler.jsp"%>

B. <%= requestScope[‘javax.servlet.error’] !=null %>
C. <%@page isErrorPage="true"%>

D. <c:set var="errorHandler” value="true”/>

Answer: C

NEW QUESTION 6
Which two features are provided by the JSTL Core library for a JSP? (Choose two.)

A. iteration over a collection

B. buffering of large result sets
C. testing conditions

D. message localization

Answer: AD
NEW QUESTION 7
Your customer has received 50 boxes of item A (priced at $10 per box) and these items are transferred to the asset Inventory organization. There are no additional

guantities in any of the inventory organizations apart from the received 50 boxes. After running all the necessary cost accounting and receipt accounting processes
successfully, the item valuation for item A is still zero.
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What is the reason?

A. Items are not consigned items but ownership is still with the supplier.
B. Iltems are consigned items and ownership lies with the supplier.

C. ltems are consigned and ownership is transferred to “owned”.

D. Items are not consigned items and ownership is with the organization.

Answer: B

NEW QUESTION 8
Which class do you use to handle an incoming JSON Message as a stream?

A. JsonReader
B. JsonObjectBuilder
C. JsonParser
D. JsonObject

Answer: A

NEW QUESTION 9
Given the code fragments:

@Stateless
public class HRService {
@PersistenceContext(unitName="HRApp-PU")
private Employee findEmployee(String badgeld) {
return entityManager.find(Employee.class, badgeld);
}
public void updateEmployee(Employee emp) {
/ /add code here

@WebServlet(name="HR", urlPatterns={"/hr"})
public class HRServlet extends HttpServlet {
QEJB
private HRService hrService;
public void doGet(HttpServletRequest req, HttpServletResponse res)
throws ServletException, IOException {
String badgeld = req.getParameter("badge");
String name = req.getParameter("name");
Employee emp = hrService.findEmployee(badgeld);
emp.set\Name(name);
hrService.updateEmployee(emp);

}

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);

B. Contex

C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c
entityManager.lock(emp);EntityManager.merge(emp);

D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B

NEW QUESTION 10
An inventory transaction is important to the system through an FBDI template.
Which transaction state denotes that an inventory transaction is created in the Oracle Inventory Management application?
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A. Created
B. Validated
C. Deferred
D. New

E. Staged

Answer: B

NEW QUESTION 10

You defined an Inventory Organization that is meant to track the contract manufacturing process outsourced to a supplier.

Where do you mention that this Inventory Organization is meant for one particular supplier?

A. Manage Inventory Organization Locations

B. Manage Subinventories

C. Manage Inventory Organizations

D. Manage Contract Manufacturing Relationships
E. Manage Item Organizations

Answer: C

NEW QUESTION 13

Your organization performs a restock via a transfer order between inventory organizations, using the following parameters for processing:

Transfer Type: In-transit transfer type Receipt Routing: Standard
Transfer Order Required: Yes

During the process, the receiving organization wants to make a change to the transfer order line. After which fulfillment stage will they no longer be able to change

the transfer order?

A. Awaiting Receiving
B. Awaiting Billing

C. Closed

D. Ship Confirm

E. Awaiting Fulfillment

Answer: C

NEW QUESTION 16
Java EE’s support for WS-Security includes handling which two types of security credentials? (Choose two.)

A. X.509 certificates

B. SAML tokens

C. OAuth Bearer tokens

D. Two-factor authentication tokens

Answer: AB

NEW QUESTION 17

What is true about Message-Driven Beans (MDBs)?

A. MDBs can patrticipate in transactions.

B. MDBs are invoked synchronously.

C. Each MDBs can process messages only from a single client.

D. MDBs retain data caches between client calls.

Answer: A

NEW QUESTION 22

Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization level with a default subinventory.

ltem: A, Min Qty: 25, Max Qty: 150 and Current Level: 20

The item above is purchased from a supplier. Although there is subinventory on hand, the subinventory is below the minimum required level. This should trigger a

Min-Max report entry, but the requisition is not generated. Why?

A. Fixed lot multiplier is not set.

B. No value has been set for the “Min-Max Replenishment Reorder Approval” profile.
C. Min-Max planning can be performed at the Organization level.

D. Rounding the Reorder Quantity is disabled.

E. ltem is not defined in Manage ltem Subinventories.

Answer: E

NEW QUESTION 23

You need to develop a chat application, which allows the display of emoticons and images together with text messages.

How should you configure a WebSocket endpoints to receive both text and binary messages?

A. Create two @onMessage methods in the same endpoint with appropriate parameter types.

B. Define the @onMessage methods in your endpoint with Object as parameter and check the actual type in your code.

C. You can achieve this only by creating separate WebSocket endpoints for each message type.
D. Create two @onMessage methods, each with appropriate decoder attribute in the same endpoint.
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Answer: D

NEW QUESTION 25
Given the code fragment:

<servlet-mapping>
<servlet-name=firstServlet< / servlet-name>
<url-pattern=>/*< /url-pattern=

</ servlet-mapping>

<servlet-mapping>
<servlet-name>secondServlet< /servlet-name>
<url-pattern>/</url-pattern=>

</ servlet-mapping>

<servlet-mapping>
<servlet-name>thirdServlet</ servlet-name>
<utl-pattern>/ < /url-pattern>
</servlet-mapping>

When the context root is requested http://host:port/context, how does the container resolve this mapping?

A. thirdServlet handles the request.

B. firstServlet handles the request.

C. The container throws an error at startup.
D. secondServlet handles the request.

Answer: C

NEW QUESTION 28

Your customer has two warehouses (Inventory organizations) located in two different regions. They have a consigned agreement in place with the supplier. Your
customer requests that whenever consumption advice is created, it should be created separately for each inventory organization.

What setup is required to achieve this requirement?

A. Set Consumption Advice Summary in Consignment Agreement to “Organization’.

B. Set Consumption Advice Summary in Consignment Agreement to “All Organizations with items”.

C. This cannot be achieved because only one common consumption advice is created regardless of other parameters.
D. Set Consumption Advice Summary in Consignment Agreement to “All Organizations”.

Answer: A

NEW QUESTION 31

Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and the transfer order is created though the
FBDI process.

What is the primary interface data that needs to be completed in the template?

A.CST_|_INCOMING_TXN_COSTS

B. INV_SUBINVENTORY_TRANSFER

C. INV_TRANSACTION_LOTS_INTERFACE
D. INV_SERIAL_NUMBERS_INTERFACE
E. INV_TRANSACTIONS_INTERFACE

Answer: E

NEW QUESTION 33
Given the code fragment from a Facelet page:
<ui:cotnposition xmins="http:/ /www.w3.0rg/1999/ xhtml"
xmlins:h="http:/ / xmins.jcp.org/jsf/ html"
xmins:pt="http:/ / xmins.jep.org/jsf/ passthrough”
xmins:t="http:/ /xmilns.jep.org/j=f/ core”
xmlins:jst="http:/ /xmins.jep.org/sf"
xmlns:ui="http:/ /java.sun.com/jsf/ facelets">
<h:form id="searchForm">
<!—-Linel -—-=
<h:commandButton value="Search"
action="#{searchMB.search}"/ >
</ h:form:=
< /ui:composition>
On Line 1, you ae asked to insert a search box that displays the text “Search Here” via a placeholder.

Assume searchMB is a valid Managed Bean.
Which two options enable you to create a search box with a placeholder attribute on Line 1? (Choose two.)

A. <h:inputText value="#(searchMB.query)"><f:param name="placeholder” value="Search Here"/></h:inputText>
B. <h:inputText value="#(searchMB.query)” placeholder="Search here”/>
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C. <input jsf:id="search” placeholder="Search here” jsf:value="# (searchMB.query)"></input>
D. <h:inputText pt:placeholder="Search Here” value="#(searchMB.query)”/>
E. <input id="search” jsf:placeholder="Search Here" value="$(searchMB.query)"></input>

Answer: CE

NEW QUESTION 35

A customer has one Business Unit, two Legal Entities, and each have eight warehouses (defined as Inventory Orgs). While trying to set up Cost Organizations for
each of these Legal Entities you were unable to perform the mandatory step of assigning the Profit Center Business Unit for one set of eight Inventory
Organizations; however, you could do it for the other set.

What is the reason for this?

A. The Legal Entity Setup is incomplete.

B. There is no Inventory Validation Organization defined.

C. The General Ledger is not associated with Business Unit.
D. The Business Unit is not enabled for Costing.

E. There is no Business Unit associated with the Legal Entity.

Answer: E

NEW QUESTION 36
You have orders that were due for shipping last week, but as for now they have not been shipped. Which dashboard should you check at the end of the day to
determine which orders have been shipped?

A. Past Due Shipments

B. Orders Completed in Full

C. Past Due, Completed Today
D. Due Today, Not Completed
E. Past Due, Not Completed

Answer: B

NEW QUESTION 40
Identify three statements that are true about reservations in back-to-back processing.

A. Partial fulfillment of reservations is supported.

B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.

D. One reservation is created for a demand and supply.

E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 44

Your customer has a requirement across their 10 warehouses, each with different users. They would like that whenever a warehouse user logs in, their warehouse
should get populated.

How will you achieve this?

A. Set up the profile option INV_DEFAULT_WHSE_ID at site level.

B. Set up the profile option INV_DEFAULT_WHSE_ID at user level for each user.

C. Set up the profile option INV_DEFAULT_WHSE_ID at role level (different roles for different warehouses).
D. Set up the profile option INV_DEFAULT_ORG_ID at user level for each user.

E. Set up the profile option INV_DEFAULT_ORG_ID at role level (different roles for different warehouses).
F. Set up the profile option INV_DEFAULT_ORG_ID at site level.

Answer: E

NEW QUESTION 47

Your company has multiple inventory organizations where goods are transferred internally. A user has created a new organization but new organization is
unavailable when creating an interorganization transfer.

What is the missing setup?

A. Inventory organization data access for users is not set up.

B. Interorganization Parameters are not set up between the organizations.

C. The destination organization transfer type is In Transit.

D. The source and destination organization doesn’t belong to the same legal entity.

Answer: D

NEW QUESTION 52

A Persistence application locks entity x with a LockModeType.PESSIMISTIC_READ lock type. Which statement is true?
A. LockModeType.PESSIMISTIC_READ is the synonym of LockModeType.READ

B. This operation will force serialization among transactions attempting to read the entity data.

C. This operation will result in a TransactionRolledbackException if the lock cannot be obtained.
D. If the application updates the entity later, and the changes are flushed to the database, the lock will be converted to an exclusive look.
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Answer: B

NEW QUESTION 57

Your organization has lot controlled and nonlot controlled material and stores all defective material in a subinventory called “Defect”. The organization does not
want defective material to be available for reservations or for subsequent shipping to customers.

Which option satisfies this requirement?

A. Tag the lot as defective product.

B. Disallow all inventory transactions for the subinventory “Defect”.

C. Put a hold on the lot.

D. Assign the subinventory a material status that disallows reservations and allows subinventory transfers and issues to scrap.
E. Assign the lot a material status that disallows reservations and allows subinventory transfers and issues to scrap.

Answer: D

NEW QUESTION 62
Given the code fragments:

//line 1

public class Contactld implements Serializable {
private String countryCode;
private String phoneNumber;
// remaining implementation

}

TEntity
/ /line 2
public class Contact implements Serializable {
@NotNull
zId
protected String countryCode;
@NotNull
zId
protected String phoneNumber;
// remaining implementation

}

Which action completes this composite primary key implementation?

A. Add @IdClass annotation at line 1.

B. Add @Embeddable annotation at line 1 and replace both @Id annotations with @Embedded|d annotations.
C. Add @IdClass(Contactld.class) annotation at line 2.

D. Add @Embeddable annotation at line 1 and @Embeddedld(Contactld.class) at line 2.

Answer: D

NEW QUESTION 63
Your client wants certain inventory items of high importance to be counted periodically to improve the average level of inventory accuracy.
What type of counting would you recommend?

A. Physical Count

B. Manual Count

C. Serialized Count

D. Cycle Count

E. Blind Count

F. Zero Quantity Count

Answer: D

NEW QUESTION 65
Given the code fragment:

Cookie cookie = new Cookie ("key","value");
cookie.setMaxAge (-1);

How long does this cookie persist?

A. until server shutdown

B. until garbage collection in the servlet instance
C. this request

D. until browser shutdown

Answer: D

NEW QUESTION 69
Which three values are applicable for the profile option - “Transaction Processing Mode” for subinventory transfer and interorganization transfer?
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A. Background Processing
B. Sequential Processing
C. Concurrent Processing
D. Online Processing

E. Offline Processing

F. Blind Processing

Answer: ACD

NEW QUESTION 70

Which two capabilities are provided by the Java Authentication and Authorization Services (JAAS) API? (Choose two.)
A. protecting data from unauthorized viewing by using encryption

B. verifying that a user is allowed to perform an action

C. ensuring that data is not modified in transit

D. verifying identity claims from users

Answer: BC

NEW QUESTION 74

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com



Welcome to download the Newest 2passeasy 1z0-900 dumps

@ 2 P QsseaQs LJ https://lwww.2passeasy.com/dumps/1z0-900/ (142 New Questions)

THANKS FOR TRYING THE DEMO OF OUR PRODUCT

Visit Our Site to Purchase the Full Set of Actual 1z0-900 Exam Questions With Answers.

We Also Provide Practice Exam Software That Simulates Real Exam Environment And Has Many Self-Assessment Features. Order the
1z0-900 Product From:

https:/lwww.2passeasy.com/dumps/1z0-900/

Money Back Guarantee

1z0-900 Practice Exam Features:

* 170-900 Questions and Answers Updated Frequently
* 170-900 Practice Questions Verified by Expert Senior Certified Staff
* 170-900 Most Redlistic Questions that Guarantee you a Pass on Y our FirstTry

* 170-900 Practice Test Questions in Multiple Choice Formats and Updatesfor 1 Y ear

Passing Certification Exams Made Easy visit - https://lwww.2PassEasy.com


http://www.tcpdf.org

